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Finding Radicals on a Numberline Name:
Deter mine which letter on the numberline best representstheradical. Answers
1) 2 3 4 5 6 7 8 )
A/ “—o0— —o— ! o—+—o TS
. a b c d
2.
2) 0 1 2 3 4 5 6
A/14 «+—0 +O : O+ O— : > 3
a b c d
4.
3) 5 6 7 8 9 10 11
/82 « o : —0—5p : o—H> 5
a b ¢ d
6.
4) 4 5 6 7 9 10 ,
A/ -« o— o— o : —o— :
a a b C d
8.
5 3 4 5 6 7 8 9
T2 - o+o —o : : —o—H» 9
a b C d
10.
6) 8 9 10 11 12 13 14
A/ « ! o—1 a—o : o :
120 a b ¢ d
7) 5 6 7 8 9 10 11
A/ S f O } O— O— —O f
Al a b c d
8) 7 8 9 10 11 12 13
A/ <o ! o— | ! o0 |
141 a b c d
9) 8 9 10 11 12 13 14
A/ « ! o+—o—+ o—t o :
111 a b c d
10) 3 4 5 6 7 8 9
/67 <o = o— = = o+o >
a b c d
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Finding Radicals on a Numberline

Name: Answer Key

Deter mine which letter on the numberline best representstheradical. Answers
1) 2 3 4 5 6 7 8 4
N “«—o— o : ot+—o0—1» 1
a b c d
2 d
2) 0 1 2 3 4 5 6
A/14 <++—o0 o : O o— : > 3 C
a b c d
4 d
3) 5 6 7 8 9 10 11 d
A/82 < 0— | | o—0 | o—» 5
a b ¢ d
6 b
4) 4 5 6 7 9 10 A
A/91 « o— o —o I —o0— 7
a b C d
8 C
o) 3 4 5 6 7 8 9 b
NG « 0+-0 —o : : —o—» 9
a b C d
0. d
6) 8 9 10 11 12 13 14
« — o a—o : o :
A/120 o .o 0
7) 5 6 7 8 9 10 11
A/ « } O } O— O—1 —O }
4l a b c d
8) 7 8 9 10 11 12 13
<o o : : o+0 :
A/141 o 0 oo
9) 8 9 10 11 12 13 14
« : ot+—o0— o—i o :
A/111 o 0 0 0
10) 3 4 5 6 7 8 9
N~ <o : o : : o+0 >
a b c d
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